impact forces

and reactions of all things due to
physics

Impact forces - The forces
occurring when two objects
collide

Momentum - A measure of how
difficult it is to stop a moving
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| Safety Features in Cars

Safety Glass
‘ Passanger safoty coll
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Side-mpact bar
Front crumple tone

Antilock braking system(ARS)
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Momentum

To get the wagon to . 1
accelerate, you have to apply a o
PULL (Force). L
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If the MASS of the wagon o
increases, a greater PULL s

necessary to accelerate it.

______________________ 1 I Fig 1. The Conservation of Momentum Applies

. | te & Clesed System Mot an Open Syutem.
Newtons Third Law
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Newton's Third Law :rEqua’rions for this topic

:Momen‘rum = Mass x Velocity

Forces always Come in Pairs:
You Push on a Wall
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